ol Date! 3/259/2016 23308 P

s
7

P

2I_0II 2I_0II
— |
HSS4x4x1/4 ¥ ¥
XaXx — —
4-0"0.C. .
STEEL COLUMN SCHEDULE @40 D0 MAX)
® ,
METAL DECK
LOCATION TYPE BASE PLATE LUG wss2 iz S ] / (SEE PLAN)
X
A7 HSS4X4X1/4 BP4 - BETWEEN JOIST SEATS | | |
A-9 HSS6X6X1/2 BP10 TYPE 1 11 | (TYP)) \
A-9.8 HSSB6X6X1/2 BP3 - 6-0" _ N R R R
A-11 HSSBX6X1/2 BP6 - ~ = 3/8" STIFF. PL.'S
A5-11 HSSBX6X1/2 BP3 - ﬂ FULLY WELDED _ I D _
A.9-13 HSS6X6X1/2 BP6 - 14\ |2 EACH SIDE
o - o S —
AA-4A HSS4X4X1/4 BP4 : ANGHORS L6x4x1/4x0'-6 1/2" LONG 14 12" §INGLE PLATE SEE PLAN 4 (2) L8x4x1/2 - DO NOT
AABA HSSAXax1/4 BP2 - 1 1/2" EMBED HEADED ANCHORS TO COL. LG. EACH SIDE INSTALL TIGHT TO MC18
AATA HSS4X4X1/4 BP4 - | ) l -
B-7 HSSEX6X1/2 BP3 : | 1z | MC18x58
B-8.6 HSS6X6X5/16 BP6 - i | - o @ O Q| } 1/4‘ 2" O 1/4‘ 4@12
B-10 HSS6X6X5/16 BP6 - Ly 53 S—' : | 1 ,4‘ on 0 1/4‘ 4@ 12 W30x132
B-11 HSSBX6X1/2 BP3 - = W | | g =1
- - > wm i |
:'54 171 Eg:gigﬂ; ; EE; T — |3 - | W-BEAM O 3/8"x4"x6" PLATE (EACH
= - ? 1T o / | (SEE PLAN) o SIDE) AT 4'-0" O.C. (ALIGN
BB-3A HSSBX6X1/2 BP3 - ) 9 m JOIST (SEE PLAN) . W/ HANGER LOCATIONS)
BB-5A HSSEX6X1/2 BP3 - 0 L ] 1 ,4‘ N ROOF JOST
BB-7A HSSBX6X1/2 BP3 - L) ! 1/4" TAB : l : ( ) +
BB-8A HSS5X5X1/4 BP2 } EQ EQ WT5x15 PLATE o : 1/4 ’ \ i =
BB-9A HSS4X4X1/4 BP10 TYPE 1 - - | | WT6:20 x 9" LONG W-BEAM (SEE PLAN | T N e
- ROOF JOIST
BB-10A HSS5X5X5/16 BP5 TYPE 1 Lax3x1 BRACE | | ( : L, ) ML, (SEE PLAN)
C-7 HSS5X5X1/4 BP2 - SEE SCHEDULE SEE SCHEDULE : : |
c-9 HSS6X6X1/4 BP7 TYPE 1 - -
C-10 HSS6X6X1/4 BP7 TYPE 1 - . M ‘ | 3/8" FITTED PLATE
BP1"TYPE A" BP2 "TYPE B" AT CENTER OF HSS4x4
c-11 HSS5X5X1/4 BP2 - ‘ | (TYP. TOP & BOT,)
c.7-7 HSS6X6X1/4 BP3 - | |
C.8-6.2 HSS6X6X1/4 BP3 _ 3/8"x4"x0'-10" | MC10x28.5 W/
BASE PLATE LAYOUT SECTION SECTION HOLES AS REQUIRED
C.96.2 HSS4X4X1/4 BP4 - E2 E3 E5 HSS4x4x1/4 HANGERS FOR PARTITION SUPPORT
C.9-7 HSS6X6X1/4 BP3 - SCALE: 11/2"=1-0" SCALE: 1"=1-0" SCALE: 1"=1'-0" @ 40" 0.C. (MAX)) RODS
CC-10A HSS5X5X1/4 BP11 TYPE 3 HSS 2 1/252 1/2x1/4
D-1 HSS4xax1/4 BP4 - ‘ @ BETWEEN JOIST SECTION AT OPERABLE PARTITION SUPPORT
D-1.6 HSS4X4X1/4 BP10 TYPE 1 TYP 1 1/2" METAL DECK SEATS (TYP.) E6 —
D-2 HSSBX6X1/2 BP3 - TVP. TOP & A 5/16‘ ' (SEE PLAN) (15-0") 1 ,4‘ 2@ 12" SCALE: 1"=1-0
DD-3A HSSBX6X1/4 BP6 - BOT -
DD-5A HSS6X6X1/4 BP7 TYPE 1 \ ' I(éé‘g\%g é gl-_%TTED HOLES 1/4‘ 2@12
- - l \ ’ ‘ h
DD-7A HSS6X6X1/4 BP6 BRICK IN OPPOSITE DRECTIONS FOR L 11/2" METAL DECK
E-7 HSS6X6X1/4 BP6 - ] " EXTERIOR BRICK VENEER LINTEL SCHEDULE
HSS COL 3/4" DIA. ERECTION BOLTS) (SEE PLAN)
E-9 HSS5X5X1/4 BP7 TYPE 1 (SEE PLAN) o LOCATE ANGELS AT 4'-0" O.C. MAX.
E-10 HSS5X5X1/4 BP7 TYPE 1 5 AND WITHIN 1'-0" OF BEAM END (+14'-21/2") MASONRY OPENING SIZE BEARING
E-11 HSS4X4X1/4 BP4 - | - /
SEE ARCH'L FOR 3 . ;
F-1 HSSBX6X1/2 BP3 - ELEVATIONS . an ;
F-2 HSS5X5X1/4 BP2 _ ‘ ‘% L4x4x3/8 (CONT.) 11'-0" TO 12'-8 BENT PLATE 8x6x3/8 8" MIN.
F.3-0.5 HSS4X4X1/4 BP4 - o NOTES:
G-9 HSSGX6X5/16 BP10 TYPE 1 - \ L8x4x7/16 (CONT.) HSS BEAM -
G-9.6 HSS6X6X3/8 BP6 - W-BM. (SEE PLAN) JOIST (SEE PLAN) W-BEAM 1. LINTEL FOR EXTERIOR MASONRY SHALL BE HOT-DIPPED
G-10.1 HSSBX6X3/8 BP7 TYPE 1 —L/\/J- ‘ (SEE PLAN) GALVANIZED.
G-10.6 HSS4X4X1/4 BP1 - TYP. 5/16‘ FIELD WELD CONNX ANGLES 2. LINTEL IS SIZED FOR 4" WIDTH OF MASONRY.
G-11A HSSBX6X3/8 BP10 TYPE 1 FULLY AFTER FINAL ALIGNMENT &
G-12 HSS5X5X1/4 BP10 TYPE 1 PRIOR TO PLACING BRICK
G.2-05 HSS4X4X1/4 BP4 -
G.5-10.6 HSS4X4X1/4 BP1 -
G605 HSaxexts os - D2 }MOMENT CONN. DETAIL 53 ). SECTION D4 }SECTION 6 ) TYP. STEEL LINTEL SCHEDULE
H'1 HSSGX6X1/2 BP3 - SCALE 3/ = 1 '0 SCALE 3/4" - 1|_0u SCALE 3/ = 1 '0 SCALE 3/4" - 1|_0||
H-2 HSSBX6X1/4 BP6 -
H.8-0.5 HSS4X4X1/4 BP4 -
J-12 HSS7X7X1/2 BP12 TYPE 1 | |
J.8-0.5 HSS4X4X1/4 BP4 - 11 )
K-3 HSSEX5X1/4 BP5 - 05 Q - 36" COVERAGE -
K-4 HSS6X6X5/16 BP8 TYPE 2 : (1 1/2" ROOF DECK)
K-5 HSS6X6X1/4 BP6 - ‘ 6-0" ‘ ‘
K-6 HSS4X4X1/4 BP4 - TYP. W-BEAM - =
K-8 HSSEX6X3/8 BP6 - 114 ‘ 212 METAL R(ggg PfoNf (SEE PLAN) METAL ROOF DECK ‘ ‘
L-0.5 HSS4X4X1/4 BP4 - 3/8" THICK FULLY (SEE PLAN) W-BEAM (SEE PLAN)
L1 HSSEX6X1/2 BP10 TYPE 1 SEE ARCH'L WELDED WEB 36/TPATTERN €—@—@— 00— 0§
L2 HSS5X5X1/4 BP5 - STIFFENER PLATE- — L 36/5 PATTERN + + +
L.1-12 HSS7X7X1/2 BP13 - BRICK Z TYP. EACH SIDE OF L3x3x1/4 KICKER LOCATED I I
M-8 HSS6X6X3/8 BPS : (SEE ARCH'L) I BEAM WEB, USE FOR }IS / AT HSS COL. 36/4PATTERN &——@—7 & —7 4
. . | |
N-12 HSS7X7X1/2 BP13 - 1o"a'3/8" BENT PLATE ) Y . WHERE APPLICABLE o 36/3 PATTERN f | f | T
P-1 HSS5X5X1/4 BPS - CONT. OMIT VERT. LEG e S
P-1.6 HSS4X4X1/4 BP10 - AT BEAMS [ || \ —/i\, =
P-2 HSS5X5X1/4 BP5 - | [, N
P-2.4 HSS5X5X 1/4 BP5 L C-CHANNEL - 3/8'x5x0"-10" PL. / - "1 — TYP. ROOF DECK FASTENER LAYOUT
o - (SEE PLAN) | | | W/ (4) 3/4" DIA. ROOF JOIST C6 i .
P-3 HSS6X6X1/4 BP3 - B ASTM A325 BOLTS (SEE PLAN) h \ SCALE: 3/4"=1'-0
P-4 HSS6X6X1/4 BP10 TYPE 1 ’ 212 ¥y I\ J/8'8'%0-bF PL. (TYP. EACH SIDE) e \N A
- . v_l llX llX l_ 1 i . N
P-5 HSSOX5X1/4 BP2 TYP. ‘ 2,12 ' HSS COL. W/ (2) - LONG SLOTTED HOLES FOR bbd -
Q-5 HSS4X4X1/4 BP4 - (SEE PLAN) (2) 3/4" DIA. A325 BOLTS. LOCATE AN
Q-6 HSS5X5X1/4 BP2 - HSS BEAM gIONNGIll-)E WIEC?_IELEED BOLTS AT BOTTOM OF SLOTTED HOLES HSS COL
Q-8 HSS6X6X3/8 BP10 TYPE 1 W-BEAM (SEE PLAN) 70 CHANNEL (SEE PLAN)
R-8 HSSEX5X1/4 BP5 . (SEEPLAN) FLANGE STRUCTURAL STEEL
R-8.2 HSS7X7X1/2 BP13 . TYP. BEAM TO HSS COL. MOMENT 1. STRUCTURAL STEEL SHALL BE ASTM A992, BR. 50 (Fy=50 KSI). EXCEPT
5_19662 Eg?;nﬂg 2:212 - . . STRUCTURAL TUBING TO BE Fy=46 KSI, UNLESS NOTED OTHERWISE.
-10. 7X7 - 2. FABRICATION SHALL NOT BEGIN UNTIL SHOP DRAWINGS HAVE BEEN APPROVED.
R-12 HSS7X7X1/2 BP14 - C2 SECTION C3 CONNECTION DETAIL C4 SECTION 3. CONNECTIONS SHALL BE DESIGNED BY THE STEEL FABRICATOR.
SCALE: 3/4"= 10" SCALE: 3/4" = 10" SCALE: 3/4" = 10" 4. BASE PLATES AND BEARING PLATES SHALL BE GROUTED WITH NON-SHRINK
' ' ' GROUT AND AT PROPER GRADE, BEFORE PLACING STEEL.
5.  CONTRACTOR SHALL APPLY TWO BRUSH COATS OF ASPHALT TO COLUMNS AND
@ WELD FINAL CONNECTION BASE PLATES EXPOSED TO FILL AFTER COLUMN IS IN PLACE.
6. STEEL BEAMS ENCASED IN CONCRETE SHALL RECEIVE CLIPS OR BE WRAPPED
g METAL DECK JOIST REINFORCING IS (2) 1/2" DIA. BOLTS | WITH WIRE MESH, UNLESS NOTED OTHERWISE.
- - REQUIRED AT ALL LOCATIONS (2) L3x3x1/4 7.  STEEL BEAMS TO RECEIVE WOOD NAILERS SHALL HAVE BOLT HOLES DRILLED
WHERE MECHANICAL/ELECTRICAL ONE EACH SIDE METAL DECK N/ | FOR 1/2" DIA. BOLTS AT 2'-6" O.C. STAGGERED.
METAL DECK . L UNITS ETC. ARE HUNG FROM THE JOIST L3x3x1/4 8. VERIFY WITH MECHANICAL DRAWINGS FOR LOCATION OF DUCTS, PIPING, ETC.
; P —/ /A | | DECK SUPPORT THROUGH FLOOR AND ROOF CONSTRUCTION BEFORE SPACING JOISTS.
TYP. ‘\ S I A 9. ALL STEEL CONNECTIONS NOT SPECIFICALLY DETAILED IN STRUCTURAL DRAWINGS
‘ L —— [\ [\ [ | | TO BE DESIGNED AND DETAILED BY A PROFESSIONAL ENGINEER HIRED BY THE
) = [ L] B STEEL FABRICATOR. THE COMPLETE CONNECTION DESIGN PACKAGE WITH ALL
1 1/2" METAL DECK ! | | SUPPORTING CALCULATIONS SHALL BE STAMPED BY THE PROFESSIONAL
(SEE PLAN) HSS 2 1/2x2 1/2x1/4 (CONT.) S S <’ I‘\'N ENGINEER AND FORWARDED TO HARRIMAN PRIOR TO OR WITH THE
FOR JOISTS WITH 2 1/2" SEATS , [ ‘ / STRUCTURAL STEEL SHOP DRAWINGS FOR REVIEW AND APPROVAL. SHOP
C5%6.7 (CONT) RN | DRAWINGS WILL NOT BE REVIEWED WITHOUT ALL SUPPORTING CONNECTION
[\ \ [\ [ HSS 2 1/2x2 1/2x1/4 (CONT.) FOR JOISTS WITH 5" SEATS L = ] 1/4‘\ CALCULATIONS PROVIDED.
FOR JOISTS WITH 2 1/2" SEATS [ STEEL JOIST / of I
C5x6.7 (CONT.) STEEL DECK
< FOR JOISTS WITH 5" SEATS \ HSS 2 1/2x2 1/2x1/4 TIE JOIST | ™~— HSS COLUMN
STEEL JOIST CUT BETWEEN JOISTS o | 1. ROOF DECK SHALL BE 1 1/2" - 22 GAUGE & 1 1/2" - 18 GAUGE, TYPE B (PAINTED)
STEEL BEAM WITH 2 1/2" SEATS OR L6x6x3/8 x 0'-10 A, EASTENING PATTERN:
WT4x9 @ ENDS & C5x6.7 FOR JOISTS SHOP OR CLIP ANGLE "
20" 0.C. (MAX.) STEEL BEAM T ERTa FIELD WELD | DECK ATTACHMENT - 5/8" DIA. PUDDLE WELDS OR APPROVED MECHANICAL
3/16’ 2 MIN PL 6x6x1/2 (MIN.) FASTENERS.
W-BEAM ' WITH 13/16" DIA. HOLE PATTERN - 36/7
(SEE PLAN) SIDELAPS - #10 TEK SCREWS AT 12" O.C. MAX.
DO NOT WELD
1/4 ’ MISCELLANEOUS
TYP. DETAIL AT 90 DEGREE CHANGE IN TYP. DETAIL AT CHANGE IN DECK
DECK DIRECTION DIRECTION OTHER THAN 90 DEGREE 1. CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND EXISTING CONDITIONS
B2 B3 B4 TYP. JOIST REINFORCING B5 TYP. STEEL TIE JOIST DETAIL BEFORE PROCEEDING WITH THE WORK
YT o - 1o YT YT 2. CONTRACTOR SHALL REPORT ANY VARIATIONS FOUND AT THE SITE BEFORE
SCALE: 3/4"=1-0 SCALE: 3/4"=1-0 SCALE: 3/4"=1-0 SCALE: 3/4"=1-0 PROCEDDING WITH THAT PART OF THE WORK.
HSS COL. DESIGN INFORMATION
(SEE PLAN)
ROOF OR FLOOR DESIGN CODE = 2009 IBC AND ASCE 7-05
OPENING LIVE LOADS:
CLASSROOMS = 40 PSF
SECTION | | ASSEMBLY/ OFFICES = 65 PSF
B1 — — %%» — = — MEETING ROOMS / LOUNGES = 100 PSF
SCALE: 1= 10" AT LOCATIONS WHERE DUCTWORK IS 71 | | | TOILET ROOMS = 60 PSF
' LOCATED WITHIN JOIST DEPTH, ] / I LOBBIES, STAIRS AND EXITS = 100 PSF
OMIT DIAGONAL BRIDGING AND 1 /4‘ . . MECHANICAL ROOMS = 200 PSF
REPLACE W/ HORIZ. BRIDGING AT ! / ! LIGHT STORAGE = 125 PSF
TOP AND BOTTOM CHORDS. v~ | N S . L4x4x5/16, TYP.
r COORDINATE WITH MECHANICAL DRAWINGS. | | r ‘ ROOF OR FLOOR ' ’ ' (4 SIDES) SNOW LOAD:
Pg = 60 PSF
, ‘ 3/16" - 2" LONG AT K JOISTS BRIDGING FRAMING | | Cg -10
14~ 14" 1/4" - 3" LONG AT LH JOISTS STEEL JOIST STEEL DECK \ \ 1/4‘ | / Ct=1.0
— : | | Is=1.1
PROVIDE ERECTION BOLTS MIN. 4" REINFORCED _\ | | LoXha® (LLE) X HSS WIDTH ] | Pf= 47 PSF
AT JOISTS IN BAYS OF CONCRETE SLAB | | ' ' ! |
40'-0" OR MORE ~ X ‘ , WIND LOAD:
STEEL DECK ] © [ olff o ] © | T« - - - — — — — — — — L _'] r'_ . | BASIC WIND SPEED (V) = 100 MPH (3 SEC GUST)
FASTEN TO SUPPORTS | | B B — = Iw = 1.15 (CATEGORY lil)
| \ \ o) == —= EXPOSURE CATEGORY = C
| | l I INT. PRESSURE COEF. (GCpi) = +/- 0.18
|4 2 0 © 2 2 | | )
SEISMIC LOAD:
LN L N[\ _}./ LN L N[\ \ \ _ _HssBM. o SEISMIC OCCUPANCY CATEGORY Il
| \ 1 | 7 SITE CLASS =D
| | Ss=0.241; S1=0.078
S < v, o JIE— 1] | ° HEC ‘/ L5x5x5/16 CLIPS _ Sds = 0.257; Sd1=0.125
\ \ TYP. | L4x4x5/16, TYP. SEISMIC DESIGN CATEGORY =C
, , ‘\ (4 SIDES) S.F.R. SYSTEM = ORDINARY CONCENTRIC BRACED FRAMES
ANGLE CROSS ANGLE CROSS | | ANALYSIS PROCEDURE - EQUIVALENT LATERAL FORCE
L BRIDGING BRIDGING NOTES: R=3.0
HVAC DUCT BRIDGING 1/2" DIA. BOLT . (2) 5/16" STIFF. BASE SHEAR (V) = 0.141W
(TYP) 1. PROVIDE AT ALL OPENINGS LARGER THAN 12".
FLOOR JOIST FLOOR JOIST NOTE: MAKE CROSS BRIDGING HORIZONTAL IN ‘ P 2. FOR OPENINGS UP TO 6" - NO REINFORCING REQUIRED.
STEEL BEAM LAST BRIDGING BAY BEFORE TERMINATING BRIDGING, 1/4‘ : 3. FOR OPENINGS FROM 6" TO 12" - USE 24'x24" 16 GA. COVER PLATE
SIMILAR TO THIS DETAIL. G.C. COORDINATE LOCATIONS SCREWED TO DECK WITH #10 TEK SCREWS AT 8" O.C. (MAX.) ALL AROUND.
W/ MECHANICAL DRAWINGS, SPECIFICATIONS AND 4. ALL FRAME CONNECTIONS TO BE WELDED.
DETAIL SIMILAR AT ROOF MECHANICAL CONTRACTOR. 5. COORDINATE SIZE AND LOCATION OF ALL OPENINGS WITH M,E, AND P TRADES.

SCALE: 3/4"=1'-0"

SCALE: 3/4"=1'-0"

SCALE: 11/2"=1-0"

SCALE: 3/4"=1'-0"

NO SCALE

HARRIMAN

AUBURN PORTLAND MANCHESTER

JEWISH COMMUNITY
ALLIANCE
OF SOUTHERN MAINE

PORTLAND, ME

15309

Harriman Project No.

Key Plan Proj North

8P

Issues and Revisions

Mark Date Description
- 09-04-15 DESIGN DEVELOPMENT REVIEW
-- 03-25-16 CONSTRUCTION DOCUMENTS

\\\\\\\\mm////,,///

\\\\ %““‘\\l\ ”lu,‘.'%///
NS 2
=

Drawing Scales
As indicated
3/4" =1'-0"
0 4" 8" 1"
e —
11/2"=1-Q"
PA/PE: JCF © 2016
Drawn By: ZPP Harriman Associates

FRAMING NOTES AND
DETAILS

S60.1




